Scomposizione di trinomi monici di grado superiore

Periodo 2 - UdA 7

Scomporre 1 seguenti trinomi monici

vt — 1322 + 36
z* — 1022 + 9
vt —172% + 16
% — 812 4+ 16
vt 4+ 1522 — 16
822 -9
x4+ 1722 + 16
5 — 152% — 16
vt 522 44
4+ 1022 4+ 9
v+ — 1522 — 16
vt — 512 — 36
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x4+ 52 — 36
* — 51 + 4
28 + 1524 — 16
24+ 812 — 9
vt + 322 — 4
5+ 22t + 1
5+ 172% + 16
x4+ 822 + 16
vt — 312 — 4
|
x + 1322 + 36
w4+ 202 + 1
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SOLUZIONI

Scomposizione di trinomi monici di grado superiore

(x+2) (x —2)( ) (x —3
(x+1)(x—1)(x+3)(x —3)
(x4+1)(x—1)( ) (x —4
(z +2)° (z — 2)?
(x+1)(x—1) (az2+16)
(a:2+1)(x+3)(:1:—3)
(x +1) (a: +16)

)($+4)( — 4)
(:1:2+4) (x +3) (x — 3)
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Periodo 2 - UdA 7

(:1:+2)(x—2)(x2+9)
(x+1)(z—1)(x+2)(x —2)
(22 +1) (z + 1) (x — 1) (2* + 16)
(:E+1)(x—1)(:z:2+9)
(x+1)(x—1)gx +4)
:1: +1
x +1 (x +16
(¢ +4)°
(2132—|-1)<£C—|-2)(£C—2>
(x +1)* (z — 1)
(:1:2+4) (x2+9)
(x2+1)2



